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X+4=34

1Sx + 4 = 34 where x = 2

10x + 4 = 34 where x = 3

By -4 from both 6x + 4 =349 wherex = 5

sides, we get ?x = 30

Therefore, the
values of x can be all
the factors of 30.

Sx+ 4 =349 wherex = 6
3x + 4 = 349 wherex = 10

2x + 4 = 39 wherex = IS

8(x +3) =96
T(x - 2) = 42 _
: is
SN should (x +3) =12
(x ) be the 3
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There are sia different possible values of » in What could the missing digits in this equation be”
3x + =

The value of x in my equation is a two-digit prime
number less than 30. The answer to the equation is
a square number.

Possble answers:

Ifx =1, then 3x + 3 = 36 or 3x + 16 = 49

Ifx =13, then 3x + 10 = 49 or 3x + 25 = 64
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Step 2: Find the 1D
Step 2. enginy of. pen — -

(U/SanAcmdB) gx + 25 =7 B
(4x6) +25=49m
Sx+ 4§ = 349¢cm < 34cm g
C
sx=34-4 Step 2: Find the length of pendl C
R
Sx = 30em A, Band D (34 + 34 + 49 = 117) < = >
X=30=+5 D
Phem = rem = 22em S
X = 6¢cm _ >
Pencil € is 22¢m long. < Z4x + 25 g




